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GENERAL INSTRUCTIONS for This Test

» The question paper consists of 3 sections (Section-A contains Physics, Section-B contains
Chemistry, Section-C contains Biology).

» This Question Paper contains a total of 60 quesstions.

» All questions are single correct type questions. Each of these questions has four choices (A), (B), (C) and
(D) out of which ONLY ONE is correct.

» Indicate the correct answer for each question by filling appropriate bubble in your answer sheet.

» For each question, you will be awarded 4 marks if you have darkened only the bubble corresponding to
the correct answer and zero mark if no bubble are darkened. In all other cases, minus one (—1) mark will
be awarded

> Also read instructions written on the OMR sheet.

Y

Please fill the OMR answer sheet accordingly and carefully.

» Blank spaces and blank pages are provided in this booklet for your rough work. No additional sheets will
be provided for rough work.

» Use of Calculator, Log Table, Slide Rule and Mobile is not allowed.
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PART-1: PHYSICS

[SINGLE CORRECT CHOICE TYPE]

1. The variation of velocity of a particle moving along straight line is shown in figure. The distance traversed

by the body in 4 seconds is
T HUT BT ARl N1 & Qe M & 997 7 URaci= U6 H USHRId 8 Al 4 AHUS H BV §RT I X1 A dRI—

£ 20
R S
o
g >

o' 1 2 3 4

Time (sec)
(A) 70 m (B) 60 m (C)40 m (D) 55 m
2. The trajectory of a projectile fired horizontally with velocity u is parabola given by (Take vertical downward

direction as positve)-

AT | u I § S T YA HT 9 WRaed ¥ AT SIRAT— (SeaieR 1 @ fQwn @1 g9reTs ofd gY)

g 2 g 2 g .2 g 2
(A) Y =5 (B)Y="5 (©) X=5 7Y (D) X==5 7Y
3. A boat man could row his boat with a speed 10 m/sec. He wants to take his boat from P to a point Q just

opposite on the other bank of the river flowing at a speed 4 m/sec. He should row his boat-

T A1dd A1 D1 10 AL/, B T IR FHhd © | T8 AU A1 B A4l @ P fag A e 9 Q g R
RAETIAR o S @1Edr © | afa 81 &1 981 4 H./9. 8, A1 9 A1d Bl AT S

(A) At right angle to the stream <
. -1 2 . =4 m/
(B) At an angle of sin 5 with PQ up the stream LR S S
1 (2) .
(C) At an angle of sin 5 with PQ down the stream b

(2
(D) At an angle of cos ] (g) with PQ down the stream

(A) T & 981@ & o foen #

(B) PQ ¥ sin ' (g)aﬁwwﬁzﬁa@azﬁwaﬁaﬁ?
(C)PQ % sin ' [g)aﬁwwﬁzﬁma%:ﬂaaﬁsﬂq

(D) PQ ¥ cos ' (%)WWTC&H%WE%%EI%W
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4.

In the figure shown, the pulley is moving with velocity u. The velocity of the block attached with
string:

gaRRid faa # B uaw | afoefia g1 @ =0 9 93 g «fd &1 a7

O

T

T

(A) 4u (B) 3u (C) u (D) 2u

A block of mass 0.1 kg is held against a wall by applying a horizontal force of 5N on the block. If
the co-efficient of friction between the block and the wall is 0.5, the magnitude of frictional force acting
on the block is (g = 9.8m/s?)

0.1 591, STATE &1 Th @id b adR & AR SN &8fds 9 oM &R @1 o1 @ 2 | IR «ld
g @R H "yl ond 0.5 8 A @b R BR—BR TYU gd 8-

(A) 25N (B) 0.98 N (C)49 N (D) 0.49 N

A wooden block of mass m resting on a rough horizontal table (coefficient of friction = p) is pulled
by a force F as shown in figure. The acceleration of the block moving horizontally is :

m ST BT Ahe! BT el GIad AfIsT T8 TR 3@ 8 | (F997 IS = p) S9! 9o F gRT FRErgar &=
AT 2 | &S § IR ed P @R §

F
6— —
m
TTTTITTTTTTTTTTTTTTTTT ITITTIT
Fcos6 pFsing
(Aa) = (B) 2
F .
(©) s (cosO+pusin®)-pg (D) none

A particle moves in a straight line with retardation proportional to its displacement. Its loss of kinetic

energy for any displacement x is proportional to

TP B U TR Y@ H T BT ® it 7 faRem= & wargureh 2 | fodt Y favemos x & fog g9
TS Sl H & T ® —
(A) X2 (B) ¢ (©) x (D) log x

Space for rough work
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8. A particle of mass m begins to slide down a fixed smooth sphere from the top. What is its tangential

acceleration when it breaks off the sphere ?
mETA BT TH HU1, ReR Ml & MY 4§ B gR= ST 2 | 9 SHBT G99 Mol | gedl &, ad
AT Wl V&g @07 B —

29 V5 g
a3 B) 22 ©¢ (D) 5
0. A man of mass M stands at one end of a plank of length L which lies at rest on a frictionless

horizontal surface . The man walks to the other end of the plank. If the mass of the plank is M/3, the

distance that the man moves relative to the ground is

YU 2 FlE IR L AHTE & T @ U R IR M S 61 799 Tl © | 999 T& & gax R a@
T B | IS T BT &9 M/3 8, T 9% §RT SHIF & ATue dell g1 & —
(A)3L/4 (B)4L/5 (C)L/4 (D) none of these

10. A particle is attached to the lower end of a uniform rod which is hinged at its other end as shown in the

figure. The minimum speed given to the particle so that the rod performs circular motion in a vertical
plane will be : [ length of the rod is ¢, consider masses of both rod and particle to be same ]

o A AR SR T B U R W diafdd 8 do1 gar Fae R R U& 91 1 2 | $97 Bl 31 T
JATH I T BT AP B JER T § airg A HR T —

[BS & TS (8, BS d B BT TFAF SI91 m 7 |

m, /
m
(A) /5gr (B) 4gr (C) J4.59¢ (D) none of these
11. A very very large number of particles of same mass m are kept at horizontal distances of 1m, 2m,

4m, 8m and so on from (0,0) point. The total gravitational potential at this point is :

(0,0) =g & 987 1fdd T § A A m S HON DI Afasl g 14HIeR, 24IeR, 491y, 8 ... W
X UPR & B, a1 fag (0,0) R o i fa9a a1 8 -

(A)-8G m (B)-3Gm (C)-4G m (D)-2G m

Space for rough work
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12.

13.

14.

15.

16.

A closed pipe resonates at its fundamental frequency of 300 Hz. Which one of the following statements
is wrong ?
T d8 9rsY 300 Hz 9 3Mgfd W rgfad 2 | a1 77 3§ 9§ S $orF TTed 2 |

(A) If the temperature rises, the fundamental frequency increases.

(B) If the pressure rises, the fundamental frequency increases.

(C) The first overtone is of frequency 900 Hz.

(D) An open pipe with the same fundamental frequency has twice the length.

(A) TT9 96T WR o JGRT Feil 2 |

(B) ot Mg 9g= W 19 9T B |

(C) yor S1fRava Jmgfa 900 Hz B |

(D) T ol MY & Yol T B o Tg g 81T |

An observer standing at the sea-coast observes 54 waves reaching the coast per minute. If the
wavelength of wave is 10m, The velocity. of wave is

T Vel Y% ¢ W TS BIPR e BT © b U e § 54 ORI e WR ygedl ¢ | IS TR Bl IR
10m 81 1 TR BT 9 B0

(A) 19 m/sec (B) 29 m/sec (C) 9 m/sec (D) 39 m/sec

A small body of mass 0.10 kg is executing S.H.M. of amplitude 1.0 m and period 0.20 sec. The maximum
force acting oniitis :

0.10 {1 &1 & BieT fvs |.ayl. T &R 81 & s omard 1.0 /1. den sfacdard 0.20 9FUs 2 | 39
fJus W= o arel JAfHTH a9 BT AF B

(A) 98.596 N (B) 985.96 N (C) 1002 N (D) 76.23 N

Steam at 100°C is passed into 2.0 kg of water contained in a calorimeter of water equivalent 0.02 kg at

15°C till the temperature of the calorimeter and its contents rise to 90°C. The mass of steam condensed in
kgis

0.02.0 kg & STl Jodid drel dardr § 2kg U ¥RT B, g9 a9 15°C ¥ | 100°C @t fa=t g g6
yqrfed @ S @1y arfe $9@T v 90°C d& 98 I | JaTfad wd &1 S9= kg § S1d & |

(A) 0.301 (B) 0.280 (C) 0.60 (D) 0.02

Three liquids of densities d, 2d and 3d are mixed in equal volumes. Then the density of the mixture is
A wa e a@ d, 2d T 3d & 999 maad H§ e S 2 | fsr @1 g 81|

(A)d (B)2d (C)3d (D) 5d

Space for rough work
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17.

18.

19.

20.

Equal volumes of a liquid of relative density 1.02 and water are allowed to cool from 80°C to 60°C in the
same surroundings. The times taken are 8 mts and 15 mts respectively. The specific heat of the liquid in
cal/gm-°C is-

HH 3T & U 9 3Mufere vvcd 1.02 8 T Uil F91 gRaer § 80°C ¥ 60°C T 30 fhd 91 & | 3vs
B ¥ o AHT HHE: 8 fAee g 15 fAFe B | g9 91 fafdre S deRl/Imm—°C § &—

(A) 0.52 (B) 0.81 (C) 1.02 (D) 1.23

In the following figures (1) to (4), variation of volume by change of pressure is shown. A gas is taken

along the path ABCDA. The change in internal energy of the gas will be:
o ot (1) 9 (4) 5 g9 gRddT & A1 g & A9 § gRddd e T 8 1 T 9 7 92T ABCDA
@ IR o ST ST B | N @ MRS St § uRads g

1 D c TD A% 1] o c

P| P P
A | B) AIB © | "N, D) Q
V—> V—> V—>

(A) positive in all cases from (1) to (4)

v —>

(B) positive in cases (1), (2) and (3) but zero in case (4)

(C) negative in cases (1), (2) and (3) but zero in case (4)

(D) zero in all the four cases.

(A) (A) ¥ (4) TF a9 H gD (B) (1), (2) A (3) § gD Afh (4) H T

(O) (1), (2) T2 (3) § FRocHS <fhd (4) H T (D) |1 H T

Supposing the distance between the atoms of a diatomic gas to be constant, its specific heat at

constant volume per mole (gram mole) is

fgmrame /1 & wAvRT & 9 @ g9 g 99 Y, S9! Fad smras R ufa Jra faf¥re e g —

(A) gR (B) gR (OR (D) ;R

A Cannot engine works between 200°C and 0°C. Another Carnot engine works between 0°C and —
200°C. In both cases the working substance absorbs 4 kilocalories of heat from the source. The ef-
ficiency of first engine will be -

TP Bl 3o 200°C 71 0°C & e BRI HRal & | §a-1 Bl gord 0°C @ —200°C & 929 B el
2| ST AR W BTSN ygTef WId ¥ 4 fherher S WId W @9 wRal B | YU SoiT Qe
EiRll

100 200 200 273
(A) 273 B) 273 © 573 D) 373

Space for rough work
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PART-II : CHEMISTRY

[SINGLE CORRECT CHOICE TYPE]

21. The radius of the an orbit of hydrogen atom is 0.85 nm. Calculate the velocity of electron in this orbit.

TSSO URATY] & Tdh H& & =oal 0.85 nm 2| SH H& H golagid @ 97 B IOET DI |
(A) 6.44 x 10° m/s (B) 5.44 x 10° m/s (C) 5.44 x 10° m/s (D) 5.44 x 10> m/s

Cl cl
Cl
22. The dipole moment of is 1.5 D. The dipole moment of is:
Cl cl
Cl Cl
Cl
o1 fgga amef 1.5D 7 | a1 @ faga SMeml &1 A9 S1d BT |
Cl Cl
(A)OD B)15D (C)2.86 D (D)2.25D
23. Match list-I with list-II and select the correct answer using the codes given below -
List-I List-1I
Ton / 3o+ Radius (in pm)/f3r<a1 (pm #)
(D Li* (a) 216
(IT) Na* (b) 195
(IIT) Br- (c) 60
av) - (d) 95
Codes / |&d :
I 11 I IV
(A) a b d
B) b c a d
© c d a
D) d c a
Space for rough work
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24.

25.

26.

27.

A 0.5 dm? flask contains gas 'A" and 1 dm? flask contains gas 'B' at the same temperature. If density
of A =3.0 gm dm™ and that of B = 1.5 gm dm™> and the molar mass of A = 1/2 of B, then the
ratio of pressure exerted by gases is-

FAE ¥ W, P 0.5 dm? mgad el 9 J 19 A d1 1.0 dm?’ a drel urs § 19 B &1 @l
ST Bl AR N AB ¥d =3.0gm dmP I FMB H @ 1.5 gmdmT E 9 A A FT

AR gegdE 19 B & AR Se¥= &1 1/2 1 & o 39 19 & S $1 Jqud 8-
(A) P,/Py =2 (B) P, /Py = | (C) P,/Py = 4 (D) P,/P; = 3

The equilibrium constant K _ for the reaction, A(g) + 2B(g) —— 3C(g)is 2 x 10~

What would be the equilibrium partial pressure of gas C if initial pressure of gas A & B are 1 & 2 atm

respectively.
(A) 0.0625 atm (B) 0.1875 atm (©)0.21 atm (D) None of these
A(g) + 2B(g)=—— 3C(g)is2 x 10~

SR &) s JIWhA & forw amafadia 2x1038 | 19 C BT ATRIaReN 3ifdre g™ 3id ax e URMAS g6
T ASRB® H93 1 3IR2atm? |

(A) 0.0625 atm (B) 0.1875 atm (C)0.21 atm (D) ST ¥ PIS T8

The degree of hydrolysis of a salt of weak acid and weak base in it's 0.1 M solution is found to be 50%.
If the molarity of the solution is 0.2 M, the percentage hydrolysis of the salt should be

U gacl 3% 9 gaol &R drel @199 & 0.1 M e &1 St sruged @1 dife 50% uril 1) 8, afe faea
1 Hieral 0.2 M & a1 dd0T &1 Ui Siat Jees b= grm ?

(A) 100% (B) 50% (C)25% (D) none of these

How many tautomers can you draw for the following diketone?

for=1 sgfbe & forw ey fhds remaady a1 Tod 27

Ml
Br
I
(A1 (B)2 ©3 (D) 4

Space for rough work
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28. Compare the heat of hydrogenation of the following :
ferferRad el & BTSSISIGRT BT ST BT HH AT BRI -

O e e

(A)i>ii>iil (B)iii>ii>1 (C)ii>iii>1 (D)ii>i>iii

29. The order of leaving group ability for the following is :
f& T vl e @) Gl BT B Iy

1. -OAC 2.— OMe 3.-0S0O, Me 4. — OSO,CF,
(A)1>2>3>4 B)4>3>1>2 C)3>2>1>4 D)2>3>4>1
H;C CHj H3C H
H H H CH;
(A) Geometrical isomers (B) Position isomers
(C) Chain isomers (D) Enantiomers
HsC CH;  HsC H
H H H CHj
(A) sofacia FaTagd) (B) Retfar wwmggd)
(C) Sger |Hrad! (D) wfaferasdt Faraad

31. What will be the percentage loss is mass when NaHCO; is heated at 300°C?
St NaHCO, #1 300°C W 7T fbar STrar & a1 fbai fererd segaie ol & ghm?
(A) 60% (B)45.5 % (©)36.9 % (D) 70 %

32. An open vessel at 27°C is heated so that air in it is expelled out. If one third of the air in the vessel is
expelled out due to heating. Then, the final temperature of the vessel is-
27°C R U& ol UTF BT T a1 SI1am 2 | fesy S9+ SuRRerd arg a1er fidvd S | Ife urd &1 T &1 |
Te forgTs arg e’ Mae Sl | @1, U &7 1| 919 © -
(A) 450°C (B) 40.5°C (C) 450K (D) 400K

Space for rough work
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33. Which of the following set of quantum numbers is correct for last electron of fluorine atom ?
TR WRATY & 31T Setagid & ford gamved il & =1 g7 & & Siar 39 9gl & 2
A n=2,l=1,m=0,s=1/2 B)n=2,I=1,m=0,s=-1/2
OC)n=2,1=0,m=0,s=+1/2 D)n=2,I=1,m=1,s=1/2
34, A 30%(w/w) aqueous solution has density 2gm/ml and molarity 2M, then molar mass of solute is :
(A) 150 B) 75 (C) 300 (D) can't be determined
& 30%(w/w) STelid faea= &1 g 2gm/ml Ud AieRar 2M 2, ar fdera &1 Aok g\ ©
(A) 150 (B) 75 (C) 300 (D) frefRa el @R el ©
35. The ground state electronic configuration of Zinc (Z = 30) is 2, 8, 18, 2. The ground state electronic
configuration of Gallium (Z=31)is:
51 (Z = 30) BT 3MTer 31a=AT geide (e A= 2, 8, 18, 2 & | Hferad (Z = 31) &7 3T 1aReAT Seldeidb
fa=ama 1 B
(A)2,8,18,2,1 (B)2,8,19,2 (C)2,8,18,3 (D) 2,8,10,8,3
36. How many maximum number of atoms are present in single plane of Al(CH,), molecule.
AI(CH,), 319 # {5l U wae # S1forepad fabe u=ATY] SURerd 1 |ad & —
(A)7 (B)4 ©) 10 (D)6
37.  Element 'X' having electronic configuration 1s%2s% 2p®, 3s? 3p? form compound with Ca. The compound
is:
T fa=am 1s? 2s? 2pb , 3s2 3p® arelm d@ 'X', Ca & 91 Afe a9mn g = § ¥ Jiffs®
BT :
(A) Ca X, (B) Ca;X (C) CaX, (D) CaX
\\CH,OH
38. Write the [IUPAC name of
N CH,OH
= [UPACTH 3 -
(A)3,7-dimethyl-2, 6-oct-di-ene- 1-ol (B)2,3,7-trimethyl- 2, 6- octadiene-1-ol
(C)2,3,7-trimethyl- 1, 5-octadiene-1-ol (D) None of these
Space for rough work
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39. A thermodynamic process is shown in the following figure. The pressure and volumes corresponding to

some point in the figure are :

U SANTII® I Ushd 1 a4 fawmar w2 | 59 o & oy srer—arer fa=gail vk a1v 9 <19 4 fag

T B
P, =3x10*Pa, P,=8x10*Pa, V,=2x10"m’,

1
B

v
@]

V,=5x 10 m’

0)

>V

In the process AB, 600 J of heat is added to the system and in BC, 200 J of heat is added to the system. The
change in internal energy of the system in the process AC would be :

39 ufshar § AB Ut ® I & gRT 600 J HOAT 1aenfyd &l el & a2 BCurer § 200 J ST 3raenfyd &r

STl 2 | d5 § AC Uhd ¥ 31fdfRe Hoit & gRdd= 2H—

(A) 5601 (B) 8007 (C)60017] (D) 64017

40. Choose the incorrect statement.
(A) 2" electron gain enthalpy for any element is (+) ve.
(B) E.A. of an element a0 Z
(C) The ionisation energy order : F~ > CI”

(D) The ionisation energy order : F~ < CI~
IR HUA B FIT DI |

(A) Tt 1 T & ford 2" setaea T80T Tedl oM TeHd
(B) fob=il cea @1 getagie swiel (E.A.) o Z

(C)F > CI : I8 M= ol &l HH &

(D) F < CI” : g 31 &oll &7 HH &

il &

Space for rough work
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PART-III : BIOLOGY

[SINGLE CORRECT CHOICE TYPE]

41.

42.

43.

44.

45.

46.

47.

48.

‘Which word best describes the action of bile on fats

(A) Neutralisation (B) Digests

(C) Emulsification (D) Absorbs

3T IR d1gel B fhar & agse & v 9 v § —

(A) SERAIHRY

Oxygen is transported in vertebrates as

(B) ur==

(A) Dissolved in plasma

(C) Dissolved in cytoplasm of erythrocytes
SUABIBA H O, BT Hag A wu H el e—
(A) T §RT gferd ey

(C) Tl ®ER SOl & HIRIGI G H gald

The chamber of human heart with thickest wall is
(A) Right atrium (B) Left atrium

(C) 3R (D) 3raeiryor

(B) Complex with haemoglobin
(D) Absorbed over the RBC.

(B) EHFAIET & 1Y SIfeel a9 TdhR
(D) <Tel SR HOTHRN U aeNf¥d g8av

A9 & g1 B fd wel o) ARy waifde d1e el & ?

(A) e 3nfer (B) 9} anfeie

Green glands, present in some arthropods, help in

(A) Respiration (B) Excretion

(C) Right ventricle (D) Left ventricle
(C) <13 Fer (D) a1 frer
(C) Digestion (D) Reproduction

sntarsT & B Sigall 4 W9 T (Green glands) 9T SR € S W B © |

(A) 3994 H

Inter-vertebral disc is a

(B) SoIoi= |

(A) Fibro cartilage between the centrum of vertebrae

(C) Cartilage bone in the body
TR—PHwd S RIT 87

(A) BISED & ATH S g BIgdl SUTRY
(C) IR &1 IUTRY 37T

The junction of two nerve fibres is called as

(A) Synapse (B) Junction
Q1 3T Tell @& AT I B BEd ©
(A) R (B) ST

The brain develops from

(A) Ectoderm (B) Mesoderm
ARass &1 faaT Brem §

(A) TaereH | (B) HrarsH &

Endocrine glands

(A) Do not possess ducts

(C) Pour their secretion into blood through ducts
Il Tt —

(A) AfeTHY T8 I 7

(C) e # 37U BT ATl gRT STefel &

(C) urer 3 (D) oo H

(B) Pad in the centrum of bone

(D) Body of vertebrae

(B) 3R & A=gH H 7Igal

(D) HIFHT B B

(C) Connection (D) None of these
(C) B (D)5 H & BIg &l
(C) Endoderm (D) Meso-endoderm
(OISISLE] (D) T1-Hrred ¥

(B) Sometimes do not have ducts
(D) Always have ducts

(B) &-a Aferdd |81 8kl
(D) &He Aoty & §

MODULUS IIT ACADEMY: Ambedkar Circle, Alwar :
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49.

50.

51.

52.

53.

54.

Gland which is both exocrine and endocrine is

(A) Tubular glands (B) Saccular glands (C) Apocrine glands (D) Heterocrine glands
g UfR1, O UdaIhIg— dT UUsSIshigd <l 8l §, 98 8

(A) <g=IeR Tfer (B) S afe (C) wimTe T (D) &1 T
Thymine is a

(A) Enzyme (B) Vitamin (C) Pyrimidine (D) Purine

U B, TP

(A) T=TTgH (B) faerfi (C) Rrdfrdr=w (D) FR+

Which among the following are the smallest living cells, known without a definite cell wall, pathogenic
to plants as well as animals and can survive without oxygen —

(A) Bacillus (B) Pseudomonas (C) Mycoplasma (D) Nostoc

frfead 4 A Br—0 wad B Sifdd BIReN €, ¥ e Mi¥erd ®ifrer @Rk € e, F ureal iR
STl # D B SR 37 sifiier & Shfad <8 e & —

(A) Ifer| (B) =™ (C) ATSPIATH (D) k<t
Which of the following don't have independent free living Gametophyte

(A) Adiantum (B) Marchentia (C) Pinus (D) Polytrichum
f=forRaa # A frad gHaRAg e aa=oidl w@raer iid) T8 8 —

(A) Tfegues (B) Arehfeeram (C) urgT4 (D) wiefigTs®H

In China rose the flowers are —

(A) actinomorphic, hypogynous with twisted aestivation
(B) actinomorphic, apigynous with valvate aestivation
(C) zygonorphic, hypognynous with imbricate aestivation
(D) zygonorphic, epigynous with twisted aestivation
TS IS W g B B © —

(A) o FafRd, sl Jon i gwued A=

(B) Fran wafid, SImaRe don dREE qued 9=

(C) T FHHd, LTI Tl R uad f[a=md

(D) T |AR, STRIMYRS ol mEfid Jued =
Vessels are found in :

(A) all angiosperms and some gymnosperms

(B) most of angiosperms and few gymnosperms

(C) all aniosperms and few gymnosperms and some pteriod-phyte
(D) all pteriophytes

qIfgeIq °rg Sl 8 —

(A) |1 gadIforl 9 9 B SFgadrtral §

(B) S1f¥aTer gadifoidl #§ @ |8 sFgdaral |

(C) &t srgadifrat #, vt sFgadifral # 9 @ cRemwrger #
(D) &+ <Rsprger |
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55.

56.

57.

58.

59.

60.

The two sub units of ribosome remain united at a critical ion lvel of —

(A) copper (B) manganese

(C) magnesium (D) calcium

TSI B 1 IUSHISAT fhaa Hifdd a7 TR R GYad g8 I8 & —

(B) FEr

The Avena curvature is used for bioassay of

(A) TR

AT g fhd® JI—AMAMIH & forg wgad 8t 2 7

(A) GA, (B) IAA
Number of chromatids at metaphase is —
(A) two each in mitosis and meiosis

(C) two in mitosis and four in meiosis

HeThol § IS BT Gl Bl § —

(A) TG 9 G fave= 3§ ud® | &1
(C) FaE 4 ]1 9 Gl H IR

The water potential of pure water is —

(A) Zero

(C) more than zero, but less than one

Y€ e &1 I fava fran g g —

(A) 7

(C) T A AP Ry TP A A

Which of the following is not a micronutrient-
(A) Molybdenum (B) Magnesium
ffoRad § & 19 Ta Geavd I T8 § —
(A) Hiferesa (B) H=Rr™

In alcoholic fermentaion

(A) oxygen is the electron acceptor

(C) §+NRrgH (D) dfezram

(C) Ethylene (Tforefi) (D) ABA

(B) two in mitosis and one in meiosis

(D) one in mitosis and two in meiosis

(B) R # q1 9 g H U
(D) TR | &I 9 g gAT 7 ]

(B) less than zero

(D) more than one

(B) T ¥ HH

(D) U& 9 AfeH

(C) Zinc (D) Boron
(C) fSi (D) aRH

(B) triose phosphate is the electron donor while acetaldehyde is the electron acceptor

(C) triose phosphate is the electron donor while pyruvic acid is the electron acceptor

(D) there is no electron donor
Uehlatel fovad
(A) O, SIFE I ATE) Bl ©

(B) TSRS BB Felde i &Ial 8IdT 8, Sididh YRICfesegs soidsid UTe! 81al §

(C) TSRS BB FIde(H QAT BIAT 8, STdih UIghidd 37 Solag« UTe! BIdl §

(D) ®I3 gl AT dal ardl
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NIT Allahabad

Yatharth Dhingra
Slo Sanjay Kumar

NIT Warangal

Sahil Khan
Slo Aashu Khan

Sonal Gupta
Dlo Sanjay Kumar Gupta

Chakshu Gupta

Bhawna Gupta
Dlo Gyan Chand Gupta

DJo Sitaram Gupta

Arpit Jain
Slo Dilip Kumar Jain

Kunal Jindal
Slo Mukesh Jindal

NIT Rourkela

Gaurika Jangid
Dlo Dinesh Jangid

NIT Rourkela

Devesh Kumar
S/o Niranjan Singh

NIT Nagpur

Priyanshu Gupta
S/o Niranjan Lal Gupta

N )
NIT Surat

Mansimar Singh
Slo Harjeet singh

&
MNIT Jaipur

Pankaj Bhupesh
Slo Dinesh Chand

MNIT Jaipur

Teena Kumari
Dlo Manjeet Singh

o

NIT Kurukshetra

Akshat Parashar
Slo Babulal Parashar

Sajid Khad

S/o Khurshed Khan

NIT Raipur

Jatin Gupta

Gulshan Gupta
Slo Sunder Lal Gupta

Slo Ajay Kumar Gupta

Mohit Kumar

Nishant Kumar Meena
Slo Mahendra Kumar

S/o Ramcharan Meena

IIIT Sonipat NIT Srinagar

Noushil Sharma

Manish
Slo Rajkumar Sharma

Slo Mohan Singh

MNIT Jaipur

Ekta Verma
D/o Deep Chand Verma

NIT Kurukshetra

Tushar Saini
/o Kamal Chand Saini

Kunal Khandelwal
Slo Jagdish Khandelwal

Nitin Kanwat
Lt Mr Dharam singh Meena

NIT Srinagar

Surendra Meena
$Slo Bakhtavar Singh Meena

Vidhushi Jangid
Dio Brijesh Sharma

Lalit Kumar
Slo Hari Singh

NIT Jalandhar

Arjun Bhatia
S/o Rakesh Kumar Bhatia

Jaspreet Singh
Slo Balkar Singh

[

MANIT Bhopal

Nitin Kumar
Slo Phool Singh

-~
b

NIT Raipur

Divyansh Saxena
Slo Umesh Raizada

2

NIT Jalandhar
Vipul Jain

$lo Pramod Jain

Neha Gupta
Dio Naresh Kumar Gupta

MANIT Bhopal

Vishal Meena
Slo Pooran Chand

2

NIT Raipur

Saransh Sharma
Sfo Rakesh Kumar Sharma

3

NIT Hamirpur

Lakshit Juneja

Slo Manoj Juneja

Bhavuk Dhanetia

Slo Anoop kumar Dhanetia

s
NIT Arunachal

Nitin Ghusinga
Slo Shrilal Meena

NIT Patna

Ravindra Kumar Meena
Slo Suresh Chand

NIT Manipur

Himanshu Meena
Slo Kailash chand Meena

AIT Pune

Arun
Slo Kanwar Pal

NIT Meghalaya

Devendra Kumar
Slo Laxman Prasad

Aryan Gupta
Slo Trivendra Gupta

-
MANIT Bhopal

Divyanshu Khandelwal
Slo Ashok kumar Gupta

Deepak Kumar
So Gheesa Ram

NIT Hamirpur

Ankur Kumar
Sfo Mukesh Chand

AIT Pune

Prateek Sikarwar
Slo Dharam Singh

IIIT Bhopal

Bholaram
Slo Jaivinder
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IIT Dhanbad IIT Jodhpur IIT Delhi IIT Delhi IIT Roorkee

Vishal Agarwal Lakshya Gupta Harshita Gupta Chahat Bansal Pranay Ninawat Deepanshu Budhraja Khushi Singh
Slo krishan kant gupta Slo Purshottam Dass Gupta Dlo Lokesh Gupta Slo Rajesh Kumar Bansal Slo Vikram Singh Slo Kishan Lal Khatri Dlo Rajender Singh

IIT Dhanbad
Bhavesh Sharma Nitik Sharma Riya Jain Vaibhav Singhal Ankit Sulaniya

Slo Sushil Kumar Sharma Slo Himanshu Sharma Dlo Mukesh Jain Slo Dinesh Kumar Singhal Slo Ramdayal Meena

Naman Saini Kartik Panwar
Slo Vimal pushp Slo Pradeep Kumar

o4 o
IIT Ropar IIT Hyderabad IIT Kanpur IIT Bombay

Ashish Sulania Lakshya Mukhija Harsh Khandelwal Abhimanyu Jain A ; P
h / shok Kumar Jat Mahima Kumar
Slo Prem Chand Slo Charan Jeet Mukhija Slo Virendra Kumar Gupta Slo Anil kumar Jain Slo Ramkishan Jat Dlo Raj Singh Sllzll.sa;?ndsrlansgingh

K‘;\f‘f]

IIT Palakkad

Anmol Agarwal Niraj Yadav Hemant Kumar Mohit Saini Saumil Gupta Himanshu Yadav
Slo Manoj kumar Agarwal Slo Rajendra Yadav Slo Mahesh chand Slo Rajesh Saini Slo Girish chand Gupta Slo Manoj kumar Yadav

IIT BHU IIT BHU

Sourav Amit Mina Nikita Mina Aynansh Khandelwal Rishita Gupta
Slo Mahendra Kumar Slo Om Ram Mina Do Mukesh Chand Meena Slo Manoj Khandelwal Dlo Rishi Gupta
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